Q20244EE BRZAR—V T RAT AN B h—DEHLE |
L5 SR BIN—T AR—=YD . i P17 TV RRRE)$27 7 RRRE)

$202449A28R(1) 1HE HB1IJIUR

AAK[E 200 — 10 — 204

A &No fRFfE F—L% F— L4 =1
F18nE50 Vs FC:#50
B1HEE | 9:30~ ; 2 - 0 | FoIT—)
1 - 1
B3 =750 Vs T T—)
B2HE 10:40~ 0 - 1 ) F185#60
- 1
HmFC60 S F185#60
F3FAE | 11:50~ 5 2 - 1 1 mEs =750
0 - 0
FoLT—) Vs FC:#50
F4545 | 13:00~ 3 0 - 0 HmMFC60
3 -
F1#nE50 Vs B =750
EBOHEE 14:10~ 1 0 - 1 ) FC:#50
1 - 1
HmmFC60 Vs FEFC> =760
BOAA | 15:20~ 0 - 0 F185E50
O20244#9H28H(LX) 1HE F275KR
AERE 200 — 10 — 2049
AN frF F—L4 F— L% =1
FCHL/\h—L50 Vs BAmHFC50
BIHE 9:30~ 0 - 3 5 FEFC> =750
0 - 2
JATT4V=F>=750 vs FEFC> =750
E2HE 10:40~ 0 - 0 “ERK
ZERK Vs BFEFC> =760
FE3HA | 11:50~ | 0 - 0 | TAT T4V =B =750
1 - 1
A™HFC50 vs  TAT7T4VZ=FEL =750
FLA4HAE | 13:00~ | - 0 0 FEFC> =760
0 - 0
FBEFC> =750 VS FCHIL/\h—L50
FTOHRAE | 14:10~ 5 1 - 0 1 mAMFC50
‘] —
ZERK Vs F18n60
EoEE | 15:20~ 0 - 1 | FCHIL/\h—L50
0




Q20244EE BRZAR—V T RAT AN B h—DEHLE |

Ry EHLEIN—T ARV DM Sl 1T TURRKE) 95205 U RORIKE)
O202449A29R(H) 2BH #BB175UK 0-40

AERHE 200 — 105 — 204

&N R ] F— L F—L4 =1
FCHJL/Nh—L40 Vs S—hN\TREGEL =T
BE1HE 9:30~ 0 0 - 1 1 AT TAV=EL=740
0 - 0
FC:Z40 vs | TA4T7T4V=EL =740
B2RE 10:50~ 3 2 - 1 ) FCHIL/\k—L40
1 - 1
FCHIL/Xh—L40 Vs FC:2#40
EIRE 12:40~ 0 0 - 1 ) T—MN\TREGEEL =T
0 - 1
T—M\GREBELZT | vs |T4T7T4V=FEL=740
BAHE 14:00~ 1 0 - 0 1 FC#40
1 - 1
O2024%9H29H(R) 2HE F£25K 0-40
HEER[ 20 — 109 — 209
#A&No frF ] F— L% F— L4 =4
gl>=7 Vs F1858E40
BIRE 9:30~ 1 0 - 2 3 HMFC40
1 - 1
gl>=7 - AmMFC40
B2RE 11:20~ 1 0 - 1 3 F185EE40
1 - 2
F185#E40 - AmFC40
FIAE 13:10~ 0 0 - 1 1 gl =7
0 - 0




